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Graph

A car is traveling on a straight road with velocity 55fVsec at timet andy
- 0. For Os 1 18 seconds, the car's acceleration a(#), in fl/sec?, a d
is the piecewise linear function defined by the graph.

a) Is the velocity o f the car increasing at 1 =2 seconds? Why or
whyn o t ?
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b) A t w h a t t i m e in the i n t e r v a l 0 < f < 18 , o t h e r than ¢ = 0, is the v e l o c i t yo f t h e car 55 f t /sec? W h y ?
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c) On the time interval 0 < ¢ < 18, what is the car?s absolute max imum veloci ty, in ft/sec, and at what t ime does it
occur? Just i fy your answer.
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d) A t the times in the interval 0 < < 18, i f any, is the car?s veloci ty equal to zero? Justify your answer.
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Graph

The graph o ff consists o f six line segments, Let g be the function given by g(x) - i, f ( t )de.
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(b) Does g havea re la t i ve m i n , a re la t ive m a x , o r ne i t he r at x = 1? Just i fy .
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(c) Suppose that f i s defined for all real numbers x and is periodic wi th a period o f length 5. The graph
above shows two periods o f f , Given that g(5) = 2, f ind g(10) and write an equation for the line
tangent to the graphof g at x = 108.
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